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Time allowed for the test: 50 minutes
HIEmEFfE - 50 57

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

ok~ N

You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
guestions.

7. The use of calculator is not allowed.
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Note:
Not all diagrams are drawn to scale.

SECTION A (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.
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1. The number of views of a video
was four hundred and eighty
thousand when corrected to the
nearest ten thousand. Which of the
following numbers can be the
actual number of views of the
video?

A. 473580
B. 482 900
C. 486 610
D. 4799 000

1. - BIARAE i 5

K= 2z
gl—‘lbpgr.]-,\

T B BT R
@J‘o—r 7R — B #c

oAy AEZARAR R % ’]I’F]‘ B 4

A. 473 580
B. 482 900
C. 486 610
D. 4799 000

2. Which of the following has the
largest value?

A. 4216
B. 3.7x<1.8
C.0.42x1.6
D.0.37%1.8

2. T F|R— 3 iE S

A.4.2x1.6
B.3.7x<1.8
C.0.42x1.6
D.0.37x1.8




Fruit Subscription Plan
s

Price per box

Total number of subscription days

F g RTRE
$36 18
3. Mrs Ho has three children. If she 3 P2 ZBFA o drk b

subscribes fruit to all children HETE RSPk (el 23 & S
according to the above plan, how W EEREE Y
much should she pay in total?

A. $108 A. $108

B. $648 B. $648

C. $1544 C. $1544

D. $1944 D. $1944

4. Each plate can hold 13 dumplings.
The chef made 186 dumplings. How
many plates did the chef need at
least in order to hold all the
dumplings?

A. 13
B. 14
C.15

D. 16

4. & B3V R I3 BT o BHEFH
7 186 A+ > B> F R H S
U KR A D

A. 13
B.14
C.15
D. 16




5. A school will distribute 2 boxes of
mooncakes to each teacher to
celebrate Mid-Autumn Festival.
There are 76 teachers in the school
but only has 98 boxes of

mooncakes. How many more boxes
of mooncakes does the school need?

A. 152
B. 54
C. 27
D. 22

5. HHri By & & kT
RE 2§ M Bk 76 ¥
PR R ER 98 &0 M o B R
BFRI AL

A. 152
B. 54
C. 27
D. 22

6. There were Z%kg of chicken in the
fridge originally. After Miss Chan
2 1
used gkg and 7kg to cook lunch

and dinner, how much chicken was
left?

A. ;—gkg
B. 1%kg
C. l;—gkg
D. Z%kg

=

3
6. ki ERG ZZkg FEE o ] 4R
2 1 I
# gkg ﬂfr'?kg 2 34T E ot
Bis o BETIHE F0?

A. %kg
B. 1%kg
C. 1%kg
D. Zé—gkg




7. The following figures are two
regular hexagons of the same size.

If each stands for 1,

what is the value of the sum of the
shaded parts?

A. l%
B. 15
D. <5

ok & B
[£8-
/') ?
,
A 15
11
B- 12
11
C. 22
1
D- 12

8. What is the result of adding up all
the factors of 35?

A 12
B. 13
C. 47
D. 48

8. 4 35 cherd FHichn o i

LN
7o
.

A 12
B. 13
C. 47
D. 48
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9. Find the H.C.F. of 60 and 108. 9. $60 4~ 108 " H.C.F. -
A. 4 A. 4
B.6 B.6
C. 12 C. 12
D. 18 D. 18
10. There are 96 buttons in each pack, 10. & ¢ dafes 964> H ¥ %‘{:

7
17 of the buttons are red. How

many red buttons are there in total

if there are 14 packs?

§tho 4okt 14 ¢ bode s £ 4

e s A

F

A. 40 A. 40
B. 56 B. 56
C. 560 C. 560
D. 784 D. 784
11. Awire is 38%m long. If the wireis | 11. - iF & 38%m HUKRR 0 dok o v

: : 1
cut into pieces of ZIm long, how
many pieces of wire in equal length

can be cut out at most?

A. 16
B. 17
C.19
D. 20

N S
= sz'@*é&—ﬁ;’ﬁ,\%?

CEBE RARE B Y

A. 16
B. 17
C.19
D. 20
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12. In the above figure, how much
water is there in the container?

A. 160mL
B. 480mL
C. 1000mL
D. 1280mL

800mL

12 WY FERG RS

A. 160mL
B. 480mL
C. 1000mL
D. 1280mL

13. Arrange the following three

numbers from the smallest to the

largest:

32 7
94312

,
A. g <4<37;

7
B. 9 <312 <4

7 32
C.312 < 9 <4

7 32
D'4<312 <7

13. 3o 0T = B#cd ) 3 X BEF

32 7
9 437

32 7
A 9 <4<312

32 7
B. 9 <312 <4

7 32
C.312 <7 <4

7 32
D.4<312 < 9




14. There are 31%kg of apples in the
fruit shop. The apples are 5%kg

heavier than the peaches. What is
the total weight of apples and

peaches?

9
A 681—Okg

9
B. 581—0kg

1
C. 5855kg

1
D. 571—Okg

3
14, K% 3 # % 31Zkg LR A
2
5€kg ok & BN E G ot

5509

9
A. 68— 7kg

9
B. 581—0kg

1
C. 581—0kg

1
D. 5755kg

15. Which of the following
descriptions about quadrilaterals
must be correct?

I. All rectangles are
parallelograms.

I1. There are four equal angles in
a rhombus.

I11. A trapezium has only one pair
of opposite sides parallel.

A.land Il only

B. I'and Il only
C. Il and Il only
D. I, Iland Il

15. T F|oRit B3t if A dndy dE % T

Ny
BRI R E RS L

1. £ 350 & 4p %

., $25 5 4 - a4t T 3

A 23 1211
B. x5 I 2 Il
C. ¥z Lz 1
D.1~11z 1




5cm

5cm

5cm

o N
5cm

16. Which of the following figures can
be formed by using four isosceles
right-angled triangles as shown in
the above figure?

. trapezium
I1. triangle

[11. parallelogram

A. 1 only

B. I and Il only
C. Il and Il only
D. I, lland Il

16.

5cm

5cm

5cm

0 N\
5cm

R e BEEE &= &7

¥ oA 1T Rt g3 9

IENI]
D.I~1 2 1l

10



/

24cm
. /
B 50cm i
17. In the above figure, the circles 17. F B¢ » & 3 A5p 495 Fla= o]
inside the rectangle are of the same AP o F BN IZELT 57
size. What is the radius of each
circle?
A. 12cm A. 12cm
B. 10cm B. 10cm
C. 6cm C. 6cm
D. 5cm D. 5cm
X"
_.
18. In the above figure, when Ben 18. Y Bl® o F 2 HiTI A BET
arrives at the junction, he will turn o g T T
left and walk on. In which direction TR S b (79

will he walk then?

A. south A =
B. north B. #
C. southeast C. L=
D. northwest D. o

B ATALAH % (] 5) 11



X
Allen
L
X X
Maria Gary
& AT
Hen}ry N
[

19. If Gary is in the west of Allen,who | 19. 4% 5 g A L G end = » 7REZR
is in the northeast of Gary? Ay Agend 9
A. Tina A. FEIR
B. Maria B. 2
C. Ben C. P=
D. Nora D. 3
12cm
12cm
20. In the above square, what is the area | 20. RN i

of the shaded part?

A. 288cm?
B. 184cm?
C. 144cm?
D. 72cm?

tet ens 359
Iy

RS9

A. 288cm?
B. 184cm?
C. 144cm?
D. 72cm?

12



21. The above solid is formed by cubes
with side 2cm. What is the volume
of the whole solid?

4
FP

21, 1 Fenz gEd f L 2em ot

SR e o BB R OB
/I) ?

£

A. 18cm?® A. 18cm?
B. 36cm?® B. 36cm?®
C. 64cm? C. 64cm?
D. 72cm® D. 72cm?®
5cm
9cm?
—

22. The above figure is formed by a
small square and two trapeziums
with the same size and shape. What
IS the area of a trapezium?

A. 8cm?

B. 12cm?
C. 16cm?
D. 32cm?

1) e ff A5

A. 8cm?

B. 12cm?
C. 16cm?
D. 32cm?

//

1

?

22. PRIAA - W) A oS A
| FeA R AR e e A e s
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$im
Garden
:Zm ?tl?:] :2m 10m
$1im
20m
23. Agarden is in the centre of a piece | 23. — 3.& 20m > R 10m e = A5 %
of rectangular grassland of length Y - B Aot BT e
20m and width 10m, as shown =FIp > # T2 K ¥ e 9 RIc
above. 9 roses can be planted per Mo AV ARG VY
square meter in the garden, how
many roses can be planted in total?
A. 1800 A. 1800
B. 1440 B. 1440
C. 1152 C. 1152
D. 648 D. 648
24. The perimeter of the rectangle is 24, £ = A5 % R E_56em o %k £ B
56¢cm. If the length is 3 times the IRRESIEEBHE A5
width, what is the area of the FASGS?
rectangle?
A. 98cm? A. 98cm?
B. 147cm? B. 147cm?
C. 294cm? C. 294cm?
D. 392cm? D. 392cm?




4cm
25. In the above figure, what is the area | 25. F BII&R2384 chg fF A7 > ¢
of the shaded part?
A. 136cm? A. 136¢cm?
B. 152cm? B. 152cm?
C. 176cm? C. 176cm?
D. 208cm? D. 208cm?
20cm
sem 20cm
30cm
26. What is the volume of the above 26. + Bl REcREFE RS 0 0
solid?
A. 4200cm? A. 4200cm?
B. 4500cm? B. 4500cm?
C. 5400cm? C. 5400cm?
D. 6000cm? D. 6000cm?




Sales of Highlighters in a Stationery Shop in the Past Five Days
* ERiEd T R T g §
Each m stands for 1 highlighter

& 1 rEL R

Sunday
Egop
Monday
-
& Tuesday
Q= sg-
Wednesday
8=
Thursday
Edw

27. Each highlighter cost $18. 27. &g R L eh 8 i £.$18 o 4245 1

According to the above chart, how Bl 2 E i3 T 2 Edgks

much could the stationery shop get EfTiBARIE 59

from the sales of highlighters in the
past five days?

A. $504 A. $504
B. $522 B. $522
C. $540 C. $540
D. $558 D. $558




Number of Students Who were late in the Past Five Days
3 T RBEFDE 4 Ak

[uny
N

| D Boys
w 10 74
S - — — Girls
S« 8 24
5 N | | _
5 ig‘ 6
[«5] -1-\ B Bl ]
Eaw ‘[ |
>
pza 2
0
Monday Tuesday Wednesday Thursday Friday
5 Hp - 5 #p - 5 H = 8w R8T
Day
p3
28. The above graph showed the 28. F B EEL T B E L4 L
number of students who were late Boo V- X ek DA Bk 4F AR
in the past five days. Which day’s w5222

total number of students who were
late was exactly 2 times the total
number of students who were late
on Thursday?

A. Monday A & -
B. Tuesday B. ¥
C. Wednesday C. 2¥=
D. Friday D. 287

B ATALAH % (] 5) 17



Number of Stamps Collected by Abby

EREE Rk AP (S s

30
25
20
15
10

Number of Stamps
i (1)

ELRA

-

Flower Landscape

e B #

29. Among the stamps collected by
Abby, what fraction of whole
stamps are animal stamps?

p 2
;8
o 1

Animal Character Type of Stamps

8 4 < L B4

29.

FEEIL Y B EL D

BB b 2 INERE B A 2 K9

p 2
c 2
1

30. If 5P = 105, then % =7

3
7
21

o0 ® »

. 63

30.

4r% 5P =105 ?Kﬁ;% =9

A.3
B.7
C.21
D. 63

End of Section A

L $3
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SECTION B (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

z 3 (40 &)
FELHRE o G § AR >
Jr21 § H’-,%? °

]'JHF -t

31. Monica has a story book with 96
pages while Kate has a novel with
178 pages.

(a) Monica read m pages of story
book each day. How many pages
were left after 15 days? (Give
the answer only and express the
answer in terms of m) [2 marks]

(b) Kate finished reading the novel
in 20 days. During the first 18
days, she read n pages each day.
On the last two days, she read 8
pages each day. How many
pages did she read on each of
the first 18 days? (Use equation
to solve the problem and show

working steps) [4 marks]

31 At - ~ 96 F ekt d - ME
$ - 178 F ] o

(@) Arscs = futd mE 15
1?%—[:(14
2(REBIE X
)

—_

/') E‘
% 1)

SNERR" 5
' ¥
[2 ~]

5
>~

7
m %

19



32. (a) There are 304 members in the
: : 11
Fire Acrobatic Troupe, 16 of
them are male. How many

members are female?
[4 marks]

(b) The Fire Acrobatic Troupe sets
a stand on the stage, as shown
below. Each step of the stand
has the same width and same
height. What is the volume of
the stand? [4 marks]

1.5m

32.(a) zZI X

(b)

e BAaRRET - B

SHE AT AT o SR E

&ﬁ%§ﬁ§’$§ﬁﬁko
S5 PE A RS 9

[4 ~]




33. The following table shows the
lengths of three ribbons.

33. T AT Z B hE R o

Colour Length (Each Roll)
B¢ ER(F %)
Green 4L

%4 0™

Red

e g 4m
Yellow 35

¥4 g

(a) Jenny and 4 friends made bows
together. 5 people used 3 rolls
of red ribbon in total. How
many meters of red ribbon did
each person use on average?
(Give the answer only)

[2 marks]

(b) According to the above table,
which colour of ribbon has the
longest length? Explain.

[4 marks]

(@) FEfrod =P 5 - A= Fip
Pk ob A £ 3 3K g 4
4o TyaE A% 4 d K %

crRaARNER) [2~]

(b) 4945+ 49— FhgE d chisF
ik Rk PR [44]
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Number of New Members of Fitness Center

AP 3T e R A Hi

. >0 - Male
g wf EAE
%E) = - Female
hvi — <M
> & 30 B e
L o [
e= 20
— o5 —
3% 10F
e n
3 —
Z -
0
March April May June Month
=z 7 T = 1 VIR
34. (a) In which month did fitness 34.(a) L P wwR- B GRATE R A
center have the largest number Wb F P7EFATER S AT
of new members? How many (FZEB I % %) [2 %]
new members were there in
total? (Give the answer only)
[2 marks]

(b) If the number of new members (D) 4o R B " AT ¢ R A el
in a month was 60 or above, 60 4 g\ b FREIE D & 2
each employee would be IVEER- s oL
awarded a bonus. How many E R Az P 2R KR
bonuses were awarded to each EEREESCH2(FAHD
employee from March to June in ¥ %) [2 #]

total? (Give the answer only)
[2 marks]

22



34. (c) The new members have to pay a
membership fee of $125 in the

3.0 TG R~ g7 7 RS R
%‘ﬂ’$125’ fé’-.ﬁ/\:‘l NN l}i.‘lf i i/""i:t
5

first month. What was the total HeHRp 5o [4 ~]
membership fee did fitness
center get in April?  [4 marks]
50cm
~“30cm

35. (a) The above figure is made from
15 rectangles of the same size
and same shape. What is the
perimeter of each rectangle?
(Give the answer only)

[2 marks]

(b) What is the area of the big

rectangle? [4 marks]

35.(@) * Bd 158~ [ feakipk
ik 3 AR o & BE A
¥RAES 2R REBNE R)

[2 ~]

A PP n oz o,
/= ! !
(b)—‘-;\, ﬂmmﬁﬂ;; ?

[4 ~]
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36. A box of ‘Happy DIY’ contains 8
plastic balls and 12 plastic sticks in
which 4 of them are 12cm long each
and the rest are 6cm long each.

- £l P-#DIY]F 88 skir12
W BHY 4404 £ 12cm s #
fent £ Bom o

Q

Q Q

Q

Q Q

Plastic Sticks

Q Q

% te

Happy DIY |:> 8

(U N N %
N N A
(U N A

Q Q

-2 DIY

(a) Mandy used a box of ‘Happy
DIY’ to make a cuboid. On the
answer sheet, draw the net of
that cuboid. [2 marks]

(b) If the cuboid is changed into a
cube, how many plastic sticks
will be needed at least? (Give

the answer only)  [2 marks]

(c) Ken bought 4 boxes of ‘Happy
DIY’. If a box of ‘Happy DIY’
costs $9i how much did

he pay in total? (Give the

answer only) [2 marks]

0000000

Plastic Balls
Rk
@)@%’%—£F¢wﬁmvﬁ#$—

fﬁ.‘g\ = 'gﬁ o 5»3:\ —\‘ | :'
= R B A Bk o

x‘*\

[2 ~]

(b) 4ok izB £ > Wezpr s -
Br>E & ’1? & % ﬁs
CR?2(FABRNER) [24]

(C) Hpty 7 4 glpg DIYJ
kgl DIYJ’§$9€ :
WREH S O(RABMNE
=) [2 4]

End of Test Paper
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